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11, 2287 (Vessel) oM ZEANM 20| LLF PRLELE 745H|2

H o
12. 24 2Z7t&(Form Rolling) 0| Ciai M HAHSHA|L
ko

13. RASY HS(BE).A2220| 321 S7HA0 f1z|5t2 QUCH S|SZEE 20m o7
29| SPL=76[dB(A)]O|C}. O] 2| PWL ¥ ST = 22t HOoQITL?
| 2 WA

% CH3 6 213 4 2AIS MEIstol MYSHIAIR. (225 7)

1. ZA|2t7| 2t H| ot ZA2t7|9| 20| Tl 7|&3tAI2.
2. AZO|M OFZ(ARC) YA Al L= AsH2AE 7|=ctAl2
3. 2Yeqol &dlf = 7H2| 2 (Carriover) 3_4 Of| CioH A MY otl LAl 3 7HR| B 7|=5HA|2,
4. 2371 A9| ot HIIA| BOf| Cish Aot 7|29 W # kol 2+0|Hoj CHal
HYSIAIR.
AAT|AFO0 CHoto] A Z=24 U (PL)OI CHH|SF QIZtS a2 HIIS=0|| 2510 7|=5HA| 2.
6. S8 8S(Stress Concentration) 1} 8 Y EA|4=(Stress Concentration Factor), 3 H&

2otz 4 7HR|0f CHol A 2 FSHAI2.

1. ¢RI A A-S F=517] fIot0] BFES EotAlR
7h) AE=ZIO| 7ig S Yot
Lt) QGO 7dS =S QX el SROM OIS A(AEZD| STHA £= AEZT
gaA)7t 27El=A] dEistn 2E5HAL.
2. Bt 32 S2HARt Ao p7to] OJAtAE Al E4AFL0]| 25H0] 7| =5HAI2
3. AHEB(AIS) E7IEEEE 2EY W e ArY 5 7R 2YHSHA 2.
4. LHYE 2RO Mol 7O Hisl 7|sstAl=2
5, 7|Al28lel Eoto| 7 & 0 250 7|=5HAI=



20} : oha el AHES 7|

6. Z=EA0f At E|= B39 THE0[ 0] Cioto] 2FSHAI2.
7t) zlth =542
Lh) z|th dHSHE

1. 2lE8IMA (Shield Beam Sensor or Tube Sensor)2| (1)722 (2)71s52 E4 3)H&E L
4)AE 0|0f| Cisto] dHSHA| L.

2. RBI(Risk Based Inspection)2} FFS((Fitness For Service)0fl 2510] 7|&3HA| 2.

3. 7HEEe SF 3712 =1 2852,

6. 714282 AH=A 5712 BYSIAIL.



